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7(x% + 2ax + a®) + (4x® — 20x + bx — 5b)

= 11x? + (14a — 20 + b)x + 7a* - 5b

x AFE14a-20+b =1

1l4da+b =21

na=1,b="1( a, be AAF)
web A G2 7a? - 5b =7 - 35 = —28 0]t
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O x®*+2x+15 (@)x2+2x—15 @ x2-2x-15
@ x> +3x-15 ® x*-3x-15

(A2 2] Hol) = (7h2) x (A=)
=(x-3)(x+5)
=x24+2x-15




3. (x+y)(x-y-2)2 AN A7

@x2—y2—2x—2y @ x?—y?-2x+2y
@ x2-y>4+2x+2 @ x*+y*-2x-2y

® x2-y>+2x-2y

(x+y)(x-y-2)
=(x+y)(x-y)-2(x+y)
=x2-y?-2x-2y
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x(x=1)(x+1)(x—-2)

= {x(x=DH(x+1)(x-2)}

=2 -x)(x*-x-2)

x2 9 AlEE Folof SEER —2x2 + x2 = —x2 oA 2 9] A=
~ro]nt,
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@ b] = (a+b)2 Do, [2x, —3y] - 2x [-x, 2] B 73] 547

@ 2x2_4xy—2y2 @ 2x2—4xy+2y2
©®)2x? - axy + 52 @ 2x° + dxy +)?

® 2x% + 4xy + 4y?

(2x - 3y)2 — 2 x (—x + 2y)?
= 4x% - 12xy + 9y — 2(x2 — dxy + 4?)
= 2x2 — 4xy +y?
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8. & F (2x+3y+1)(2x—3y+ 1) vI2A A A9

@ 4x? +9y? —4x+1 @4x2—9y2+4x+1
@ 4x?2+9y? +4x+1 @ 4x?-9y? —4dx+1

® 4x2-9% +1
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2x+1 =1t 5FH
(2x+1+43y)(2x+1-3y)
= (1+3y)(t=3y) =1 - 9"
= (2x + 1)% - 9y?

=4x% +4x+1-9y2
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(1004 — 1)(1004 +1) +1 1004 — 1 + 1

1004 1004
= 1004
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O 4x?-3y2-1 @ 4x?-9y% -1
(@)4x2—9y2—|—6y—1 @ 4x> +6y2-3y-1

® 4x%>-3y* +6y—1
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(2x-3y+1)(2x+3y—-1)
={2x-(By-1)}{2x+ (3y-1)}
= (2%)% - 3y - 1)?

=4x2— (9% -6y +1)

=4x2 -9 +6y-1
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2=3-10]02
B-1B+1)B2+1)B*+1)(3% +1)
=(FZ-1)E+1)E*+1)(3%+1)

=B -1)B*+1)(3¥+1)
=(38-1)(3%+1)
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a=16, b=-1

L a+b=15
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(x+A)(x+B)=x>+(A+B)x+AB = x>+ Cx -3 °|BE&2
A+B=C AB=-3°ltf. tfA C=(1-3, -1+3, 3-
1, —3+1)=(-2, 2) °|t}.
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a’>+b*> = (a+b)?—2ab="5 A ab =2
(a-b)? = (a+b)?—4ab O| B2
~a-b=1(a>b)
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4+ +2 =x+y+2?2-2xy+yz+2x) OJBER 5 =
1—2(xy +yz + zx)
o (y+yz+zx) = -2
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a
b=2r(r+ 5) = 27r + wra = x(2r + a)
o5 2ol Yol § 2 o
S =n(a+r)?-nr?
= n(a® + 2ar +r? - r?)

na(a + 2r)
a{n(a+2r)}
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(A 9] gol)
20 +2b\? 1 1 1
ZJT( a—;— ) X§—Ha2><5+7rb2><§

:5{(a+b)2—a2+b2}

:g(2ab+2b2)
= n(ab + b?)
(B ¢ Hel)
2a+2p\% 1 1 1
ZJT( a—;— )X§+7ra2><§—7rb2><§

:5{(a+b)2+a2—b2}

= g(2ab + 2a?)

= n(ab + a?)
. B-A = n(ab + a®) — n(ab + b?)
= n(a® - b?)

=n(a—-b)(a+b)




17. x=a(@a+5 L™, (a—1)(a+2)(a+3)(a+6)=xof T3 AO=Z
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@x2—36 @ x2-6 ® x2+6
@ x*+36 ® x2-12x+36

B

x=ala+5)=a*+5a¥ I,
a—l)( 2)(a+ 3)(a+ 6)
{a=1)(a+6)}{(a+2)(a+3)}
= (a® +5a 6)(a* + 5a + 6)

= (x-6)(x+06)

=x>-36
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1 _
5x(4—2)%-§'—§}‘:’r.
(5% (4-2) =1 0|22 He| g Wapx] et

%(4_2)(4_1_2)(42+22)(44+24)(48+28)(416+216)(432+232)

X (4% -2%)(47+2%)(4% +2%) (4% +28) (410 +210)(4%2 +2%2)

(44_24)(44+24)(48+28)(416+216) (432+232)
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(416 216)(416 uE 216)(432 uE 232)
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(432 232)(432 + 232) — 5(464 _ 264)
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(% +¥%)? = (x* =»?)?

— xt £ 2x2y% 4yt ot 2x2y2 )t

= 4x%y? = 4(xy)?

xy =-15 ojlm g

L 4?7 = (67 =) = Aay)?
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